03/11/07
61 348 Service Operations Management
Midterm Exam Answer Sheet
Short-type Essay Questions:

1. What are the main objectives of Service Operations Management? (3 Points)
The main objectives of Service Operations Management are:

· Effective & efficient allocation of resources
· Delivering quality products leading to standardization

· Customers satisfaction

2. “Nowadays, “Service Products” become rather complex in nature, design and utilization.” Do you agree with this statement? Why? Why not? (2 Points)
Yes, I agree with this statement. For, the industry in the recent years is characterized with:

· Availability of alternatives
· Quality issues
· Increasing customer needs & expectations
· Tougher competition
· Price sensitivity
→ Because of the above listed characteristics, “Service Products” become rather complex in nature, design and utilization.
3. How can Service Operation Managers solve the perishability problem of Service Products? (2 Points)
Service Operation Managers can solve the perishability problem of Service Products mainly by relying more and more on technology. To illustrate, guaranteed reservations and allotment contracts can be a smart ways to solve perishability problem for the hotel rooms. Moreover, the existence ATM cards, and online banking could also solve the perishability problem in the banking sector.
4. Define the “Process Component” of the Sevice Delivery System. What are the major issues related to this very component? (2 Points)
“Process Component” refers to the methods & procedures as well as the software component of the information technology enabling the other system  components to be linked and to operate. The major issues related to this very component are:

· Designing & developing methods & procedures
· Training of employees
· Developing software & purchasing hardware

· Cost of technology
· Updating & maintenance of technology

5. At Hillside Hotel, what is the capacity of Beebar? (1 Point)
At Hillside Hotel, the capacity of Beebar is 70 seats.
6. Define Judgemental Forecating. Under which condition(s) this very forecasting can be used? (2 Points)
Judgemental Forecasting refers to using intuitions & experience to forecast a variable. It could be used only (since this very method is subjective) when there is no historical data available and/or when available data is not reliable.
7. Why shall Anual Operational Budgets be further divided to semi-annual, quarterly or monthly budgets? (2 Point)
Annual Operational Budgets shall be further divided to semi-annual, quarterly or monthly budgets to give managers more check points to stop at in order to compare actual and forecasted figure, and, hence, take corrective measures, before it is too late, whenever deemed necessary.
8. “At Hillside Hotel, Recreation Facilities are not an example of Strategic Service Units”. Do you agree with this statement? Why? Why not? (2 Points)
At Hillside Hotel, Recreation Facilities constitute a Strategic Service Unit eventhough it does not generate any revenue for the hotel. For, this very facility is valued by customers as one of the main determinants of guest satisfaction (refer to chapter 4 of your lecture notes).
9. What’s the difference between “Quality Assurance” and “Quality Control”? (2 Points)
“Quality Assurance” refers to organization’s commitment to guarantee quality (might derive from company mission and broader goals as well as from clear policies). On the other hand, “Quality Control” assesses the effectiveness of quality programs by monitoring the implementation process during service delivery and the quality of service output based on certain pre-determined standards & objectives.

Problem Solving:

1. The following table shows the number of Guest Nights, Average Bed Price, and Total Room Revenue of Hillside Hotel for the last ten years. Use these data to answer the underneath questions. 

	Year
	Guest Nights
	Average Bed Price
	Revenue ($)
	Triple Moving Average

	 
	1
	2
	(1) * (2)
	 

	
	
	
	
	

	1
	60,720
	45.60
	2,768,832.00
	--------

	2
	61,310
	45.70
	2,801,867.00
	--------

	3
	62,500
	45.95
	2,871,875.00
	61,510.00

	4
	59,420
	46.05
	2,736,291.00
	61,076.67

	5
	57,690
	46.50
	2,682,585.00
	59,870.00

	6
	60,000
	46.35
	2,781,000.00
	59,036.67

	7
	60,500
	47.50
	2,873,750.00
	59,396.67

	8
	61,000
	47.75
	2,912,750.00
	60,500.00

	9
	62,000
	47.85
	2,966,700.00
	61,166.67

	10
	63,500
	48.00
	3,048,000.00
	62,166.67

	11
	 
	 
	 
	 


a) Forecast demand (in Guest Nights) for the 11th year using the Triple Moving Average Growth Method. (Show all necessary calculations) (2 Points)
· 11th Year Forecasted Demand = 61,249 Guest Nights.
b) Now use the regression equation: Y = 169.09 * X + 59,934 to forecast the guest nights for the 11th year (1 Point)

· 11th Year Forecasted Demand = 61,794 Guest Nights
c) Use the regression equation Y = 0.30212 * X + 45.063 to estimate the Average Bed Price (ADR) for the 11th year. (1 Point)

· 11th Year Estimated Average Bed Price = $ 48.39
d) Now calculate the Total Room Revenue (do not forecast) for the 11th year using the above results found from parts b) & c). (1 Point)
· 11th Year Total Room Revenue = $ 2,990,212
2. Hillside Hotel’s kitchen chief (Mr. Diatta) wishes to establish a quality control program for the time taken to deliver “Couscous” meal, one of the main new specialities at the hotel . This idea stemed from the numerous complaints recently recieved from customers that “Couscous” order took quite unresonable time before being placed on their tables along with the fact that waiters were blaming the main kitchen of being slow at production of this very item. Mr. Diatta decided to observe the total time taken to process & cook Couscous . Using 7 different samples, he managed to collect the following data:
	Sampling Day
	Average Cooking Process
	Range (Highest - Lowest)
	# of observations

	 
	(Hrs)
	 
	 

	
	
	
	

	1
	2.56
	0.22
	9

	2
	2.67
	0.25
	9

	3
	2.42
	0.32
	9

	4
	2.75
	0.30
	9

	5
	2.55
	0.27
	9

	6
	2.61
	0.28
	9

	7
	2.63
	0.33
	9


a) Calculate the Average Sample Mean (ASM). (1 Point)

· Average Sample Mean = 2.60 Hours
b) Calculate the Average Range. (1 Point)
· Average Range = 0.28 Hours
c) Calculate the Upper Control Limit (UCL) & Lower Control Limit (LCL) of the R-Chart. (1 Point)

· Upper Control Limit (UCL) = 0.28 * 1.82 = 0.5122 Hours 
· Lower Control Limit (LCL) = 0.28 * 0.18 = 0.051 Hours
d) Calculate the Upper Control Limit (UCL) & Lower Control Limit (LCL) of the X-Chart. (1 Point)

· Upper Control Limit (UCL) = 2.60 + (0.28 * 0.34) = 2.6943 Hours
· Lower Control Limit (LCL) = 2.60 – (0.28 * 0.34 ) = 2.5029 Hours
e) Draw the R-Chart. (2 Points)

[image: image1.emf]R-Chart

0.00

0.05

0.10

0.15

0.20

0.25

0.30

0.35

0.40

0.45

0.50

0.55

1 2 3 4 5 6 7

Sampling days

Cooking Process Range (Hrs.)

Cooking Process Range

Average Range

UCL

LCL


f) Draw the X-Chart. (2 Points)
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g) What would you comment (i.e. Infer) from the findings of the R & X Charts? (2 Points)

The Kitchen Chief at Hillside Hotel was right that the time taken to process and cook Couscous meal was out of range. In fact, the X-chart shows that the ASM of cooking process has deviated above the upper control limit (UCL) as well as the lower control limit (LCL).
 As far as the R-chart is concerned, it shows that the process is in control. (i.e. The average range or difference in cooking process for each sampling day has not exceeded the limits).
From the above charts, the follwing might be concluded:
· The average cooking process is far above the expectation (X-chart) but there is no difference in cooking process time variance between employees on the same day!

· This might suggest that employees, on the same day, responsible for cooking Couscous have received similar training, and or possess similar skills.

· Therefore, Mr. Diatta shall concentrate on retraining the whole group to a certain minimum standards to ensure that Couscous would be processed & cooked within a certain reasonable time.
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